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Display Number Panel: Yes
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Questlon Number : 1 Question Id : 4557344641 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Find incorrect statements from the following

A) Cell wall of Gracillaria has outside gelatinous coating
B) Dictvoia has Flagellated spermatium

C) Hormworts show Haplodiplontic life cycle

D) Volvox zygote acts as a zoospore
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Question Number : 2 Question Id : 4557344642 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Character of Pteridophyte considered as an important step in evolution
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Options:
The embryo produces a multicellular well differentiated sporophyvte
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Sporophyte is dominant phase 1n life cycle
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Development of zygotes into young embryos takes place within the female
Gametophytes
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Spores Germuinate to give rise to prothalli
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Question Number : 3 Question Id : 4557344643 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Identify the plant that posess all the following characters
A) Xylem and phloem are main conducting elements
B) Pollen grains are carried by wind

C) Transfer of pollen is direct

D) Ovules develop into seeds after fertilisation
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Question Number : 4 Question |d : 4557344644 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Study the following statements

A)  Archaea and Eukarya are more closely related to each other than bacteria

B) R.H. Whittaker placed unicellular eukarvotic organisms in the Kingdom Monera
C) Carl Woes replaced Kingdom Monera with two Kingdoms Bacteria and Archaea
D) 24S subunit of ribosomal RNA is used in the identification of Microbes
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Questlon Number : 5 Question Id : 4557344645 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Ovaries of four different plants A. B. C and D show variation in the position of ovules as
stated below

A)  On central axis without septa

B) Onthe inner wall of ovary

C) On the ridge along the ventral suture
D) Atthe base of the ovary
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Identify the A. B. C and D plants respectively
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Tomato, Argemone, Tridax, Dianthus
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Primrose, Mustard, Pea, Marigold
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Citrus, Sunflower, Argemone, Dianthus
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Question Number : 6 Question Id : 4557344646 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Match the following

List-1
A)  Mango 1)
B) Orange i1)
C) Bean 111)
D) Custard apple )
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Question Number : 7 Question Id : 4557344647 Question Type: MCQ Display Question Number : Yes Single Line Question Option

: No Option Orientation : Vertical

List-1I

Dolichos lablab
Annona squamosa
Cifrus sinensis

Mangifera indica
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List-III
Hesperidium
Aggregate friut
Drupe

Legume
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Chrysanthemum differ from Jasmine in the given aspects when they give rise to new
offsprings in vegetative propagation process

I)  Lateral branches arise from basal and underground part of main stem

II) Branchesbent and grow downwards

II) Branches grow obliquely upwards

IV) Lateral branches arise from the base of the main axis and are aerial
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Question Number : 8 Question Id : 4557344648 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Assertion (A) : Pollengraimns are well preserved as fossils

Reason (R):  The exme of pollen grains is made up of sporopollenin. which can withstand
high temperatures. strong acids and alkali.
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Options:
Both (A) and (R) are true and (R) is the correct explanation of (A)
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Both (A) and (R) are true but (R) 1s not correct explanation of (A)
(A) 0805w (R) en dodr 3052, 570 (R) 2&s (A) S 508 b8 57

(A) 1s true but (R) 1s false

, (A)5350 50 (R) 5358 5768

(A) 1s false. (R) 1s true
(A) [056 stch, (R) 5056

Question Number : 9 Question Id : 4557344649 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Different parts of embryonic axis based on cotyledon position in a dicot embryo
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Cotyledons. Epicotyl. Plumule. Radicle. Hypocotyl. Root cap
1 Daderen, aibdeddo, BED stodo, PESSarao, s deddo, Bd&EEI
Plumule. Epicotyl. Hypocotyl. Radicle. Root cap
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Epicotyl. Plumule. Cotyledons. Hypocotyl. Radicle. Root cap
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Cotyledons. Hypocotyl. Plumule. Epicotyl. Radical. Root cap
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Question Number : 10 Question Id : 4557344650 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Arrange the correct order stages for monosporic development of female gametophyte in
anglosperms.

I) Functional megaspore

) Freenuclear divisions

) Embryosac

IV) Linear tetrad of megaspore

V) Megaspore mother cell
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Question Number : 11 Question Id : 4557344651 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following list
List-1 List-1I

A) Bluedye I) Belladona

B) Yellowdye ) Ruscus

C) Medicine I0) Indigofera

D) Edibleoil IV) Soyabean
V) Butea
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Question Number : 12 Question Id : 4557344652 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Organelles whose functions are co-ordinated with each other as an endomembrane system
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Options:

Endoplasmic reticulum. Golgicomplex. Mitochondria. Ribosomes
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Endoplasmic reticulum. Golgicomplex. Lysosomes. Vacuole
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Plasma membrane. Mitochandria. Golgicomplex. chloroplast
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Mitochondria. Chloroplast. Peroxysomes. Ribosomes
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Question Number : 13 Question Id : 4557344653 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Inall green plants. each cell shows one chloroplast

Reason(R):  The ratio between the number of chloroplasts and the number of cells in
Chlamydomonasis 1 : 1
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Both (A) and (R) are true and (R) is the correct explanation of (A)
1 (A) S0Bcn (R) e Bodr 30852, 0doin (R) @hds (A) S 598 D560



Both (A) and (R) are true but (R) is not correct explanation of (A)
(A) S08050 (R) o0 Bodr 3088, 50 (R) whds (A) o 508 D80 57
(A) 1s true but (R) 1s false
(A) 3856 500 (R) 3856 50
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Question Number : 14 Question Id : 4557344654 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct statements

1.  Ribosomes are found in Cytoplasm. Chloroplasts. Mitochondria and on rough ER
i1.  Mesosomes in bacteria are not the sites of DNA replication

ui.  Algae cell wall made of cellulose. galactans. mannan and calcium carbonate

.  Mitochondria, chloroplast and peroxisomes are the part of Endomembrane System
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Question Number : 15 Question Id : 4557344655 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

DNA molecule has length of 476A with 20% Guonosine. Choose the correct features of
DNA

2,8 DNA =08 476A 24358 20% ﬂ_""j‘cumm 5&; 5‘6;, DNA e0)80 Hoeodod) 508

© &0

) 56CTP
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Question Number : 16 Question Id : 4557344656 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A:  Composition of cell membrane of Erythrocyte

B: No. of strands present in peripheral fibril of centriole

C: No. of nucleotides 1n a typical nucleosome

I) 60% protein. 40% Lipids o) 52% protein. 40% Lipids
II) Phosphoglycolipids V) 3

V) 200 VI) 145
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Question Number : 17 Question Id : 4557344657 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Number of bivalents. chromatid tetrads. DNA strands. telomers present in pachytene phase
of meiocyte of Maize
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Question Number : 18 Question Id : 4557344658 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify group of plants based on given anatomical characters in sequence.
A) Bicollateral vascular bundles
B) Bulliform cells

C) Ringarrangement of vascular bundles
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Question Number : 19 Question Id : 4557344659 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Helianthus distinguished from maize based on this anatomical character
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Options:
Protoxylen lacuna absent. phloem parenchyme absent
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Protoxvlen lacuna present. phloem parenchyme present
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Protoxylen lacuna absent. phloem parenchyme present
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Protoxylen lacuna present. phloem parenchyme absent
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Question Number : 20 Question Id : 4557344660 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In A B.C, plants with
A) Plant grow in arid zone
B) Absorb more water during rainy reason

C) Withstand prolonged dryness are
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Tridax, Asparagus, Casuarina
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Question Number : 21 Question Id : 4557344661 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Find correct statements from the following

A) Protein transporters are responsible for maximum rates of transport under saturated
state

B) Translocation of substances in bulk flow requires hydrostatic pressure gradient
C) Root pressure plays greatest contribution for upward movement of water in tall plants

D) Transport proteins of endodermal cells are control points for active transport of ions
in two directions
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Question Number : 22 Question Id : 4557344662 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Given mineral ions essential for the physiological activities of plant
A) Nifrogen metabolism

B) Synthesis of Auxins

C) Activation of [AA oxidase enzyme

D) Formation of Mitotic spindle
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Question Number : 23 Question Id : 4557344663 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following

I) K,value Affinity of the enzyme Inverse measure enzyme affinity
) Hydrolases P-O bonds Linking 2 compounds

M) Transferases Transfer of a group Inhibitor of reaction

IV) Emil Fisher Lock and key hypothesis Formation of ES complex

& B0 TR Bgodiso BasnEm

) K, de0d JOB) DN, FBgo WY HEYHnd
So0adomr Sendits

I Trgdde P-O axogren 2-Ho@riisred Sends

) gryHod DBIrR) b Bodndd oy DEEEH0

IV) 2do6 HA6 o8N - Tdod) HBEND ES-%0850 :}ciwwcif.ijé,:;

The correct combinations are

;’3@_35 AdoTrerien

Options:
1 LIV

IT. 10T

[

Question Number : 24 Question Id : 4557344664 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Series of enzymes involved in the given reactions of C; cycle
C; S00H0e5* 2060 & §obd SPgee® F'd JoBsnen S&Hdm

(I) A[6c]+B[3¢c] — C[4c]+D[5¢]
(I) C[4c] +E[3c] — F[7c]

(II) D[5c¢] — G[5¢]

(IV) G[5¢]+ATP— H[5¢]

Options:



Aldolases. Transketolases. Isomerases. Kinases

ﬁe_‘;;;ﬁﬁm, Er8es B Een, orss0den, 380

Transketolases. Aldolases. Epimerases. Kinases
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Aldolases. Transketolases. Phosphatases. Kinases
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Transketolases. Aldolases. Kinases. Epimerases
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Question Number : 25 Question Id : 4557344665 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

No. of ATP. O, molecules and NADPH released m photophosphorylation when
12 H,O molecules undergo photolysis
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Question Number : 26 Question Id : 4557344666 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Preceeding reactions of oxidation I. II. IIT and IV in Krebs cycle
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Options:



Decarboxylation. Hydration, Cleavage and Hydration
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Hydration. Decarboxylation. Cleavage and Hydration
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Cleavage. Hydration. Hydration and Decarboxylation
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Hydration. Cleavage. Decarboxylation and Hydration
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Question Number : 27 Question Id : 4557344667 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Growth regulators that help to overcome the given physiological problems in a plant
(A) Withstand desiccation and other factors unfavourable for growth

(B) Promotes female flowers in cucumber

(C) Increase absorption surface

(D) Rapid elongation in intermodes
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Ethylene. ABA. Cytokinius
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Question Number : 28 Question Id : 4557344668 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Name for the given phenomena events that occur during the growth of the plant
A) Production of tissues in woody dicotyledonous plants to perform specific function
B) Heterophylly at different stages of growth

() Formation of meristems from parenchyma cells
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Redifferentiation. Plasticity. Dedifferentiation
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Question Number : 29 Question Id : 4557344669 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Choose the wrong statements from the given below

A) Lederberg and Tatum found that the bacterium donates entire genetic material to
recipient

B) Ehrenberg established link between bacteria and infectious diseases

C) Pasteur showed about the sigmificant changes of nature brought by bacteria

D) Gnffith discovered recipient cells of bacteria acquire previous characters
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Question Number : 30 Question Id : 4557344670 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The correct combination of hosts and their respective viral diseases
A) Bovine spongiform encephalitis-Cows

B) Rubella-Beaf

C) Scrapie disease-Sheep

D) Crentz feldt Jacob disease-Man

L&D 5Bty T8 Howohd Flelo] Jgiﬁo@ padben)
A) TP oz O FTDHN - s

B) Or@er - I

C) @F)oagh - g

D) ES2g - 755 agh - 59



Options:
| A,B.C

A B

13

;B.C.D

4 AD

Question Number : 31 Question Id : 4557344671 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Some of F, progeny are formed in single during dihybrid cross between round and yellow
(J ) and wrinkled and green (1) pea plants. Their genotypes are

K00 Ho00%0 H:0D e (d) 8050 Sudden §OA S30aD sEoHdy e ($)
S0 2ol dn§eo Hdosdndn adAsdyd F, does® §'R)AE e obdir Ecﬁécg-:m.
% 20800 JnH O Bdgiraen

Options:

1 RRY Y. rryv. irY Y. RRyy

CRRY Y. rryy. Yy RrYY

L-2

;3 RRYY.nyy. RiYy. irYY

'RRYY.nyy. Riyy. RiYY

Question Number : 32 Question Id : 4557344672 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

DNA molecule which has the highest number of hydrogen bonds

I

TAT Efmgpg @ e poreod 805 DNA @m0

Options:
AAGAGCGT

T TE 6O

AGAAGCTT
+ TETTCEAR



GCGAAAGG
JEBCT T B0

AATTACGC

i T TAATGEG

Question Number : 33 Question Id : 4557344673 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of nucleotides on the mRNA. ATP utilized. peptide bonds formed. translocations
and ribosomes required to synthesize a polypeptide with 500 Amino acids

500 edhJTesdrods §OAS #&ﬁggﬁ g03r6e5” £ mRNA 6°0 3ndo Srgérdden,
D@0 ATPen, H03he08) @S50856g BP6 woTe, TIrodbney $005n JEE DY
..f:-:us.pg@}

Options:
; 1500, 499, 500, 500 & 500

11503, 500, 499. 499 & 1

L-2

1503, 500, 499. 500 & 1

4 1500, 499. 499. 500 & 499

Question Number : 34 Question Id : 4557344674 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Light DNA (14,,) transferred fo 15, labelled culture medium for replication. The ratio of
total number of 15 and 14, labelled strands of DNA extracted from the culture after three
generations

80% 580 DNA (14y) S 154 80AS E’J-gc'ﬁ asrigoes B85S 20A5DYE, Sordd Soro
S070d 50K 0380 00k 2t0@0E DNA &0 15 528080 14y $9A5 DNA Fibhe RowTg
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Options:
1 | o)
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4 1:18

4 15:1

Question Number : 35 Question Id : 4557344675 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Sequence of strategies involved for the 1solation of gene of interest from a plant cell during
the process of IDNA technology

A) Dissolution of biological membranes
B) Enzymatic digestion of cell wall

C) Precipitation of DNA

D) Removal of DNA by spooling

rDNA 0888 H80HS” arogicdh ofmren o ey HTE) HE §wo $Hod HSEo
BAS0E & Boh Frgite SGHBES0

A)  Bddciros §8hothd

B) JoEdod g §5a7d) §6AoSi

C) NA =585h0858

D) DNA:& 50880 o%or ddBosnd

w

Options:

B.CLA.D

, C.AB.D

B,A.C.D

L

C.BAAD

Question Number : 36 Question Id : 4557344676 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The core techniques enabled modern biotechnology

A) Change the phenotype of host-organism by genetic engineering

B) Chemical engineering process of vaccine production by tissue culture
C) Manufacture of specific products from eukaryotic cells in bioreactors

D) Altering the chemistry of genetic material by tissue culture

EXT0sHE TR0 P FORHE DTN

A) 2y 020000 0%Wo" ©8Fon Gyfgiraros Srdyb

B) &arohid Qo2ddof Hgde (o, T8)00k Sneare 550 TR0 Sa5rKHBNG

C) a3drdairgde oo DusoIE Eoredd &Hd@TAod D80 oo DG J8yS
EoSridcnd

D) =dog E’JWU;@EE" grohd Srdneds Swwre H8So oo aho8orsdo

Options:

| B,C.D

A.C.D

[

; ABD

, A.B.C

Question Number : 37 Question Id : 4557344677 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The correct combination pair of given strategies in the area of health care developed by the

rDNA technological processes.
I) ELISA

II) RNA mterference

) PCR

IV) Transgenic potato

Antigen-antibody interaction
Cellular defence
Gene therapy

Pseudomonas resistance

HSsdodmres drosas 1HEodh owoe a6y Hodge Deriiods ) S8y :ﬁ{g.ﬂﬁ}@§3 Do0B0LIN

200 |Soh SoomE :den.

I) ELISA

I) RNASgas8m0

) PCR

IV) adog 20584 pomeod

Options:
| LTI

ILIIT
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, IV.II
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Question Number : 38 Question Id : 4557344678 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical



Plants genes have been altered by manipulation for these uses
I) Increased efficiency of mineral usage

II) Alternative resources to industries

IIT) Enhanced nutritional value of food

IV) Better management practices and uses of agrochemicals

& §oh P@Erese i dng e adghed® adyg SrdNd Bardd.

I) »dud o FRTER) Doty

) HpFdos Haegdmod S50

D) es55%8 A8 Dended ohdd

IV) Sodans Dﬁj‘*zaé}‘*;"}g a’jgé}ﬂ} S08a» ég;ﬂﬁ'ﬁaﬂj Sarodoare g

Options:
| ILILTV

LILII

L-2

, LILIV

; LOLIV

Question Number : 39 Question Id : 4557344679 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following Lists

A)
B)
O
D)

List-1

Recently emerged disease
Genomics

Re-emerging disease
Super microbe

& 808 rderod wigohlo Bobod

A)
B)
O
D)

adia -1
Sirend aohing TEH

Eo

la¥
o

& 08 20AE g faen

6 SrE1ED
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B3
oA

The correct answer 1s
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Options:
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Question Number : 40 Question Id : 4557344680 Question Type: MCQ Display Question Number : Yes Single Line Question

B C D
m I IV
B € D
I I W
B £ D
vV I §

B £ B
m I 1

Option : No Option Orientation : Vertical

iy

V)

iy

V)

List-1I

Resistant to drugs
SARS

New vaccine
Dengue fever
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Choose the incorrect statements from the following

I}  Blue green algae add organic matter to the soil and increase fertility
II) Fungal symbiont of mycorrhiza facilitates absorption of nitrogen
II) Baculo viruses are not desirable in IPM program

IV) A:zospirillum and Azatobacter are free living in air

€ 180D 78 Dol D057 woredy 288 KN

D 9 Fdd 3deren S55)B88 DoBH Slajieitelis 00y wrdSodo whHEo DHos
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Options:
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Zoology

Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 4557344681 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Species is an ecological unit

Reason(R):  Individuals of a species share the same ecological niche
2380 (A): 6 o8 darddon PHarmo

s=dza0 (R) : e.8 B8 Bohd £Fen a8 Larddo ?.‘Jc;mﬁj‘:. (DB) HohFotron

(= 1

Options:



Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
1 (A) $8a5» (R) &0 Bodr H$85050 Hbasn (R) =386 (A) £ 5850 DS5de

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 58080 (R) e Sodr $0630:5d 570 (R) =36 (A) § $00308 Hdd s

(A) 1s correct but (R) is not correct

(A) 38000858 50 (R) 580088 576
3.

(A) 1s not correct but (R) 1s correct

(A) 5858 526 52 (R) H85H58
4,

Question Number : 42 Question Id : 4557344682 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Inhuman beings kidneys are retroperitoneal organs

Reason (R):  They are protruded into the body cavity from inner surface of dorsal body
wall and have mesodermal peritoneum on their ventral side only

D3 do (A): SrHYNG” Dr@ghomren 86HNS wSoharen
@0 (R): ©d H)Hdorsidy S°8d800 S0 B5srdod™0s 580D ads

&E0E00e5" SnERd, BIrEdhon sibodnd &odrow

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

1 (A) $8c8» (R) e0Bodr $850:5 Hbosn (R) @36 (A) & H8508 dHde

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
, (A) H8an (R) o0 Bodr 500350 520 (R) 35 (A) § HBG0S DG 57

(A) 1s correct but (R) 1s not correct

, (A) 886056 0 (R) 8BG5H 265

(A) 1s not correct but (R) is correct

, (A) 583058 565 50 (R) 8653258



Question Number : 43 Question Id : 4557344683 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

I)  Microglial cells keep the cerebrospinal fluid in the ventricles of brain in constant
circulation

) Arrector pili muscles are unstriated muscles
II) Basophils remove antigen-antibody complexes from the blood

IV) Perichondrium is absent in fibrous cartilage

Bob wowen wgaido Babod
) HENHS Sorren Fodd STl HNH b BarQ) Afoddo (HdS0e”
€0 WOS 0
B ) \
o) JBs6 HO Sodoren €8PS Sodoren

) BFhden Hé 2S55-RensT dofaed 8o $Hod Fonron

IV) eosyodneg éa&do@*‘gej" é-ﬂ;i}acﬁ}tr”nm} £ 0EA

Among the above. the incorrect statements are
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Options:
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Question Number : 44 Question |d : 4557344684 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following

List-1
A)  Trichimella I)
B) Redia 1I)
C) Trochophore 1)
D) Glochidium V)
V)
18oB T80 B:EHG AN
erdlar -1
A) @éﬁj ey I)
B) 6&0% II)
C) |E5°8'rs 1)
D) méacso V)
V)

The correct answer 1s
5Ta a3 SRS S B AL Y

Options:
A B € D

B

"

A B € B
|

W o 1 Vv

Question Number : 45 Question Id : 4557344685 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

List-1I
Platyhelminthes
Mollusca
Echinodermata

Porifera
Annelida
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Study the following statements

I) Colloblasts are found in sea gooseberries
) Larva of cestodes is Muller’s larva

IT) Nematodes have renette gland for excretion

IV) Stomochord is found in hemichordates

§ob wowen w@gahdo Bobod
) FEerhen b irdades® dodron
oo B
) iFee oo S00b eroy
) IJIHiFde JSgsHchso BIH Hod
IV) esdgdodo (Farsq) Trdsgiios” otwod
Among the above, correct statements are

2 a°3eS® DB wogren HBoWod

Options:
| LILTI
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Question Number : 46 Question |d : 4557344686 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Among vertebrates tympanum. sternum are first appeared in

f

JEEGHT S’ 8480, 66y FnLINGLT JBS” yEown
Options:
Pisces

Soampen

1 (2%}

Amphibians
, trefodydoren



Reptiles
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Question Number : 47 Question Id : 4557344687 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following table

S.No. Group Ancestors Evolvedin
I Pisces Osteolepids Silurian period
I Amphibia Osteolepids Devonian period
I1 Reptilia Labyrinthodonts Jurassic period
IV Aves Therapsids Carboniferous period
V Mammalia Therapsids Triassic period

\_-::' ‘l‘:lrbuq.,' o)JEe &
S0 D38 HBIOotod
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Pick up the wrong combinations
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Options:
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Question Number : 48 Question Id : 4557344688 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following

List-1 List-1I
A) Longitudinal binary fission I)  Paramoeciumn
B) Transeverse binary fission )y Amoeba
C) Sporogony D) Pleurobrachia
D) Sporulation IV) Plasmodium

V) Euglena

808 B0 aEH88550

erdes -1 erdiae - 11
A) ©oHd BErINg ) DdDHodod
B) wd) &5 dnE M edloar
C) a6 ) SpoEsosr
D) &H6HBAS IV), & doho
V) oodar

The correct answer is
DB Hdrprdsn

Options:
A B C D
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Question Number : 49 Question Id : 4557344689 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Opium is obtained from this plant

D000 & J0g) SHod ofhxobd
Options:
Papaver somniferum

S>SE Fay oo
1.

Cannabis sativa

s’@ﬁﬂ 8o

L2

Atropa belladona

DT Ber&tar
3. v

Ervthroxvium coca

DO B0 85

Question Number : 50 Question Id : 4557344690 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Some times relapse of malaria may take place even after treatment

Reason(R):  Activation of hypnozoites
A3ydo (A): Frd) D8dyesodto Srar BBOIT S5H BeH
s@wo (R):  Irdmmonden wdzddddo

Options:

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
1 (A) $8a5» (R) &0 Bodr H85050 Hbasn (R) @386 (A) £ 5850 DS5de

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
, (A)5:005n (R) o0 Todr 50G0hsd 570 (R) w28 (A) § B0 DH8w 57k

(A) 1s correct but (R) 1s not correct

(A) 5853056 50 (R) $6G056 5%
3



(A) 1s not correct but (R) 1s correct

; (A) %8058 50 570 (R) 2830&8

Question Number : 51 Question Id : 4557344691 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following

List-1 List-1I
A)  Fasciola hepatica I) Castration
B) Plasmodium vivax o) Kalaazar
C) Sacculina II) Hyperplasia
D) Leishmania donovoni IV) Neoplasia

V) Hypertrophy

1Bod 3 2 d

dea -1 e - 11
A)  Frhdrer Irardise D s
B) gdfdabo Ja§) o) ser eded
C) arsgsar I) ZrsHdeEraoio
D) Oiydolr &S IV) adarahoir

The correct answer 1s
BDBGS DITrTESN
Options:
A B C D
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Question Number : 52 Question Id : 4557344692 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

I)  Marijuana is extracted from the Indian hemp plant

) Amphitamines cause sleeplessness

II) Morphine is involved in the transportation of a neurotransmitter. dopamine

IV) Heroin is commonly called smack

§0d mozen egsofso Babod

Srferaad) nofoia Troh S HSod dolirard
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) esopbrdbhaen NGB0
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IV) Troronsid amf wdsre wolrd

Among the above, correct statements are

2 worwe” JHond 830 thiodod

Options:
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L-2

; LOLIV

ILILIO

Question Number : 53 Question Id : 4557344693 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the abdomen of Cockroach. the ventral nerve cord is absent in the following segments

9008 #EG0T R & Podered” &¢dd Thdodo ok

Options:
5% segment

1 53 oo



70 to 10% segments

73 poddo Hnod 105 poldo

8% to 10™ segments
8D poddo dod 10D moddo

st gh ot seoments

4 53, 83, 93 molaren

Question Number : 54 Question Id : 4557344694 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The following are the joints of each leg of a Cockroach

I) Tibia
) Coxa
IT) Tarsus
IV) Fenwmr

V) Trochanter

ﬁ“ghag L—E*Erézr srened o 'i::ﬁ“gj,;iﬁl anedyBoen) 88 wodnoh

I) &aosr
) ss

o) irds
V) 5356

V) 5smodb

Arrange them in correct sequence from thorax to tip

EIR Sgo Sod FIJDB SH6Sm wiudod

Options:
| ILLOLIV.V

, ILV.IV.LII
; ILLIV.V.I

, V.IV.ILILI



Question Number : 55 Question Id : 4557344695 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Animals living in air-water mnterface

OtS &Hbdeoss® md, HH 89 T SHodE 2odHHen

Options:
Nekton

2

ohs

Periphyton
DEPErS

Plankton

ig:os:% (PS5 en)

Neuston

Question Number : 56 Question Id : 4557344696 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Inbrakish water stenohaline animals are abundant

Reason (R):  Brakish water animals can withstand wide fluctuations in salinity
OBydo (A): SOy Eohgees® w‘i‘ 7O (deBdohs) 2odPen whHEornr € odrron
5280 (R) : &304 SoHSD 2oBHPen ©IBoHES whE Srdyed SNSTSETO8

anbreaen EOAdodron

Options:
Both (A) and (R) are correct and (R) is the correct explanation of (A)

| (&) 50050 (R) 0 Bodr 50@5D $:0050 (R) €38 (A) & 508 D36

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
] (A) 538050 (R) o0 Sodr 36550 500 (R) @38 (A) § 5560308 DHd 5=



(A) 1s correct but (R) 1s not correct

, (A)50@080 50 (R) $O@SH 5765

(A) 1s not correct but (R) is correct

, (A)30@80 56 50 (R) 96058

Question Number : 57 Question Id : 4557344697 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following
List-1 List-1II

A) Hospital wastes I)

B) SO, pollution II) Catalytic converters

C) Particulates IM) Scrubbers

D) Automobile exhausts IV)

Electrostatic precipitators

Biotoilets

V) Incinerators

1Bof 80 B2¢EH0H0a0

erdea -1 rde - 11
A)  esHye Scoren I Lo E S5 HRhhBLSs
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B) SO, senhgo M SLHBEE 85865
2 E} e 3 1%
C) Oendrd & gD o) &
D) 3[orérd orore roted IV) ed@rirongdn

V) @080 ohogren

The correct answer 1s
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Question Number : 58 Question Id : 4557344698 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

I) Inathermally stratified lake. in winter. the upper layer is known as epilimnion
O) Animals in alake that are capable of swimming constitute neuston

IMI) The natural interconnections of food chain form a network called food web

IV) Energy flow in an ecosystem 1s unidirectional

§ob mozen edgjohdo Bohod
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Among the above correct statements are
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Options:
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Question Number : 59 Question Id : 4557344699 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Observe the following graph of regulators
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Internal level —

| | | | | | | |
External level —

In the above graph L. IT and ITI represent
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Options:

Conformers Regulators Partial regulators
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Partial regulators Conformers Regulators

88 (Biosdoen wdgstden ISados oo

Regulators Conformers Partial regulators
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Question Number : 60 Question Id : 4557344700 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Following are different layers in the wall of alimentary canal of man
I} Longitudinal muscles

M) Mucosa

IIT) Serosa

IV) Circular muscles

V) Submucosa

Bod DA wFFdard S0dgos ™ IAE Horoy QSO0
I) =s05¢ Sodoren

) gysco

) 565 &

IV) Sedd Eodoren

V) edian

Arrange them in correct sequence from outer to inner side

Fe0nd Hr0é SHOTHH B H0GBS IEKOEB0S” whdod

o

Options:
| ILLV.IV.II

, ILLIV.V.I

LV IV.LIIO

Lad

OLIV.I VI

Question Number : 61 Question Id : 4557344701 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Right side shift of oxygen-haemoglobin dissociation curve occurs during

38Had-Trarfds ddras 0p SHEDHH adiftrds sdoo

Options:



Low pH, high CO,. high temperature
S595 pH. 85 CO, 55 SAWS

High pH. low CO,. low temperature
D535 pH. 5985 CO,. S5 S &LHS

Low pH. low CO,. high temperature
€5y 3 pH. 8935 CO,. QBN D s

High pH. high CO,. low temperature
J83.3 pH. 28 CO,. 8085 aFid

Question Number : 62 Question Id : 4557344702 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following diagram of human tongue and identify the part I. II. and ITI
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Options:
Foliate papillae Fungiform papillae Circumvallate papillae
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Fungiform papillae
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Filiform papillae
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Circumvallate papillae
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Question Number : 63 Question Id : 4557344703 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A): ‘Dub’ is one of the sounds of the heart caused during a cardiac cycle

Reason(R):  The sound is due to closure of semilunar valves present at the bases of

aortic arches

a3Fo (A): 508 S005065° Hod T feres™ th e
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Options:

Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) 28050 (R) o0 Bodr 585380 Dobosn (R) @38 (A) S H0G05 Dbde

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
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(A) 1s correct but (R) 1s not correct
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(A) 1s not correct but (R) 1s correct
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Question Number : 64 Question Id : 4557344704 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following table

S.No. | Part of nephron Lined by Substances reabsorbed
I) | Proximal convoluted tubule | Simple squamous Glucose. amino
epithelium acids. water
) |Descending limb of Squamous epithelium | Water
loop of Henle (thin layer)
II) |Ascending limb of Squamous epithelium | Water. electrolytes
loop of Henle (lower thin and
upper thick)
IV) | Distal convoluted tubule | Cuboidal epithelinm Water, HCO3
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Question Number : 65 Question Id : 4557344705 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical




Study the following statements

I) Inembryonic stage. the interventricular septum of human heart has foramen ovale
II) Tunicamedia of human artery has elastic lamina on either side

IMI) Excretory organs of arachmds are coxal glands

IV) Angiotensin IT stimulates the Juxta Glomerular cells to secrete the enzyme renin
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Pick up the incorrect statements from the above
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Question Number : 66 Question Id : 4557344706 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Regulatory proteins in a myofibril are
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Options:
Actin. Myosin
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Actm. Troponin
D8N, RS

Myvosin. Tropomyosin
S@TFHL, EFFHAETFH

Troponin. Tropomyosin
) EF&FOS, EFFHaaroe

Question Number : 67 Question Id : 4557344707 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

Observe the following diagram of brain of man and identify the parts lebeled as I and IIT
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Options:
Amygdala Corpus Callosum
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Hypothalamus Corpus Callosum
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Question Number : 68 Question Id : 4557344708 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following

List-1 List-1I
A) Oogenesis I)
B) Owvulation )
C) Parturition II) Luteotropic hormone
D) Milk production V)

Oxytocin
Melanocyte stimulating hormone

Follicle stimulating hormone
V) Lutemising hormone
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Question Number : 69 Question Id : 4557344709 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Read the following statements

I)  T.lymphocytes are involved only in cell mediated immunity

) Thymus gland of mammals is a secondary lymphoid organ

II) The part of antibody that recogmises and binds to an antigen 1s called epitope

IV) Interleukins are primarily involved in differentiation of the cells of immune system
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Among the above. the incorrect statements are
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Question Number : 70 Question Id : 4557344710 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

During fertilisation. acrosome of sperm releases

DobEdn HEHS® JFTFo DHod Iddedhy JoBbw
Options:
Hyaluronidase
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Lysozyme
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Enterokinase
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Glucosidase
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Question Number : 71 Question Id : 4557344711 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

Study the following

S.No. Cell Formed by State
L Spermatogonia Mitosis Diploid
1L Spermatid Meiosis I Haploid
101 Oogonia Meiosis Diploid
IV Secondary oocyte Meiosis [ Haploid
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Question Number : 72 Question Id : 4557344712 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Oral contraceptive pills contain

KERVEEE '8 S &oBd

Options:
Oestrogen. Testosterone
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Oestrogen. Relaxin
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Oestrogen. Progesterone
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Question Number : 73 Question Id : 4557344713 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If one gene influences many phenotypic traits. the phenomenon is called
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Options:

Polygenetic inheritance
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Multiple factorial inheritance
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Quantitative inheritance
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Question Number : 74 Question Id : 4557344714 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : SNPs are more stable

Reason (R):  Theyhave very low mutation rates

DB do (A): SNPe» e Q8o 08370
52800 (R) : D58 & S5 5 SNBHYS BLn wotnod

Options:
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
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Both (A) and (R) are correct but (R) is not the correct explanation of (A)
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(A) 1s correct but (R) is not correct
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(A) 1s not correct but (R) 1s correct
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Question Number : 75 Question Id : 4557344715 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following statements

I)  Gene that codes for the synthesis of dystrophin is the largest human gene
M) Chromosome 21 contains the highest number of genes

) Endonucleases are used to cut the DNA at specific region

IV) Whole hereditory information encoded in DNA of an organism is called genome
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Question Number : 76 Question |d : 45657344716 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The idea of survival of the fittest was proposed by

Drifgddre g8 €507 P8TFHoNH

Options:
T.R. Malthus
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Herbert Spenser
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Charles Lyell
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A R. Wallace
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Question Number : 77 Question Id : 4557344717 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Founder effect is a type of genetic drift

Reason (R):  The change in the frequency of a gene that occurs merely by chance and
not by selection. in very large population. 1s called genetic drift
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Options:
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
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Question Number : 78 Question Id : 4557344718 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of amino acids in B chain of insulin
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Question Number : 79 Question Id : 4557344719 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

First clinical gene therapy was to treat
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Question Number : 80 Question Id : 4557344720 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Study the following statements

I)  Cancer of connective tissues is called carcinoma
) o-lactalbumin is used to treat emphysema
1)

Chromium 1s carcinogenic

IV) Sporadic cancers are non hereditory

§0b mozen wfgafiso Bobhod

D Sodirzg merore st 58T Sr @odrd
) o-ergondad Jodudr D8 HVDBFATH
) oo 59 =55 Senrrdod

IV) @dbhdthd s*fen wddodso s+

Correct statements of the above

» aed3e5® :{3@@3;5 eoFTen

Options:

i o

2, [ 1T

3 ILIV

4 LIV

Pluysics

Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557344721 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

kg m?s—3 A2 is the ST unit of
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Question Number : 82 Question Id : 4557344722 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a car race. two cars start with velocities 1y and u, and travel along a straight line with

accelerations o and [ respectively. If both reach the finish line at the same time then range
of the race 1s
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Question Number : 83 Question Id : 4557344723 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The time period of a particle ‘P’ moving along a circular path of radius 1 cmis T s. Another
particle ‘Q’ starts from rest at a point A and travelling along a straight line path reaches the
point B in 2 s. If AB = 12 c¢m and the particles P and Q are respectively at D and B at an
mstant shown in the figure. the acceleration of particle Q with respect to particle P is
cms—2. (Points A. B. C. D and O lie along the same straight line)
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Question Number : 84 Question Id : 4557344724 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A stone is thrown with a velocity of 20 ms™! at an angle 60° with the horizontal. The speed
of the stone when its direction of motion makes 45° with the horizontal 1s

E8e DSTroSoIE 60° Fod e orond 20 ms! FHos DTG, T S0s6Y §8
HSrodBod 45° DodnSHd TR Hé,

Options:
| 28.28 ms™!
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Question Number : 85 Question Id : 4557344725 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two blocks of masses ‘m;” and ‘m,’ are suspended by a massless string passing over a

; ; : m
smooth pulley. If the acceleration of the system i1s % then the ratio of the masses —2 =
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Question Number : 86 Question Id : 4557344726 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A car of mass ‘m’ accelerates on a level smooth road when a constant power “p’ is delivered
to 1t. If the velocity of the car at any instant is “v’. then its velocity will be doubled after
travelling a distance
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Question Number : 87 Question Id : 4557344727 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A ball falls freely from a height 180 m onto the ground and rebounds a number of times.
The coefficient of restitution is 0.5 and g = 10 ms™. Then match the quantities given in
List - I with their corresponding values in ST units given in List - IT.

List-1 List - IT
A) The height it reaches after the first impact I) 180
B) The total distance travelled by 1t m 6
before it comes to rest
C) The time taken to reach the ground first time ) 45
D) The vertical displacement before V) 300

1t comes to rest
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Question Number : 88 Question Id : 4557344728 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When a rubber string is stretched through a distance *x’". the restoring force developed has

: 2 3 . :
a magnitude (px +qx” +1x ] where p. q and r are constants. Work done 1in stretching the

unstretched rubber string by a distance /" 1s
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Question Number : 89 Question Id : 4557344729 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A wheel of mass 10 kg and radins 0.8 m 1s rolling on a road with an angular speed
20 rads™! without sliding. The moment of inertia of the wheel about the axis of rotation is
1.2 kgm?, then the percentage of rotational kinetic energy in the total kinetic energy of the
wheel 1s (approximately)

10 kg (855078, 0.8 m Fgrdo Ho &8 Gigo 20 rads™! &80 S88° 2.8 5w erdson
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Question Number : 90 Question Id : 4557344730 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A rigid uniform rod of mass ‘M’ and length “L’1s resting on a smooth horizontal table. It 1s
pivoted at its centre. Two marbles each of mass S moving with uniform speed

L ms™! in the plane of the table collide with the two ends of the rod simultaneously as
shown 1n the figure. The marbles stuck to the rod and continue to move with the rod. Time

T[ v 0 "
taken by the rod to rotate through an angle 2 radian is (in seconds)
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Question Number : 91 Question Id : 4557344731 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A particle performs SHM along a straight line. In the first second. starting from rest at
extreme position. it travels a distance ‘a’ and in the next second it travels a distance ‘b’ in
the same direction. The amplitude of the SHM 1s

J8¢0y JFoard JEFroed)§ deso S0 E20 wodgrSsn 5§ DordRs Sood, e
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Question Number : 92 Question Id : 4557344732 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two bodies of masses 2 kg and 4 kg separated by a distance of 200 cm are approaching
towards each other due to their mutual gravitational force only. After 2 s of their start. the
separation decreases by nearly
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Question Number : 93 Question Id : 4557344733 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A string of a material of length 1 m. cross-sectional area 0.2 ecm? requires 2000 N to
extend it by 1 mm. The same material is used to manufacture the legs of a robot of 50 cm
length and of cross-sectional area 0.5 em? each. The mass of the robot is 50 kg. When it
Jumps from a building of height “h’. it experiences a strain 0.05. The maximum height
through which the robot can jump without breaking its legs is (g = 10 ms=2)
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Question Number : 94 Question |d : 4557344734 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Water tlows through a pipe as shown in the figure. The areas of cross-section of sections A
and B respectively are 4 em? and 1 cm?. The gauge pressure in the pipe at the centre of
section A is 1.25%105 Pa and the flow rate is 800 ecm3s™L. The difference in heights of the
water levels in the vertical pipes is m. (Acceleration due to gravity = 10 ms—2)
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Question Number : 95 Question Id : 4557344735 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A piece of metal weighs 34 g in air. When 1t is immersed in a liquud of specific gravity 1.24
at 27 °C. it weighs 32 g. When the temperature of the liquid 1s raised to 42 °C. the metal
piece weighs 31 g. Specific gravity of the liquid at 42 °C 1s 1.2. The coefficient of linear
expansion of the metal is

a8 95D S0 ahY mdS® 34 g Fof Todd 1.24, s 27 °C &) (5o’
@""—a’jﬁgﬂ D00VHVE A D) 32 g. 1655 saEPids 42 °C S Doy, 5T 208
31 g Hbdotn B g rods 1.2. 5%y Bdg a°gS Mo

Options:
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Question Number : 96 Question Id : 4557344736 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A thermally insulated cubical box of side length 20 em and wall thickness 2 cm containing
2 kg of ice is closed on all sides. The mass of ice melted in 10 hours 1s

(Thermal conductivity of the material of the box = 0.01 Wm 'K !, latent heat of
ice =360x10° J kg~! and ambient temperature = 40 °C)

ghedn dd 20 cm, F'd SHoddn 2 om Ao a8 ¢Qwods HoTrsd 28 2 kg © Sowhd
508 Hod =) JPo Srcbed HHH. 10 flodyeeS® EBAS Do Bdgoee (28 Hoed
&3 aargdgo = 0.01 WKL, Scods MRS = 360x103 T kgl, Se038
waEid =40 °C)

Options:

| 1.52kg

1.25kg

1.64kg
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Question Number : 97 Question Id : 4557344737 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A gas consisting of rigid molecules expands adiabatically such that r.m.s. speed of its
molecules becomes half. The ratio of final and initial volumes of the gas 1s

(ratio of specific heat capacities of the gas 1s 1.5)

hé wended §O0S &8 aradng RFfRgomr argEido BobdHyd orodn oo rm.s.
D& Do =owHsh. ool o_do}ézr 638, &0 DSHddrerre G

(25 oo DRFY Fdogge AN 1.5)
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Question Number : 98 Question Id : 4557344738 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Certain quantity of heat is supplied to a monatomic ideal gas which expands at constant
pressure. The percentage of heat that is used to do work by the gas is

2.8 DEDEETe0E e TainHHE Fod SNIED wod T @b 20 Rt o) 3¢ ag§ 0008
SO0 HIDVONFTDE EIHATHHES 38 FTdo

Options:

; 80%

. 20%
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Question Number : 99 Question Id : 4557344739 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rms speed of a particle 1s ‘v, at a pressure ‘P’. If pressure is increased to 3 times
then the rms speed becomes

ol

P ordssn 58 &8 S g rms S& Vi 2SS0 3 DL DodS o mms S&
Options:
1 31—1‘11:5
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Question Number : 100 Question Id : 4557344740 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The ratio of the fundamental frequencies of two identical strings after one of them was

stretched by 2% and the other by 4% is (Assume that the tension is proportional to the
elongation)

2.8 05305 Dok &ree” &8 A0 2% H0osn Bodd oD 4% aridos dod avdd
AT 3"?325@]&“‘5@ ?J&ng (9:5;55&5 rde s wSeSrSardosT aotnod wSEod)

Options:
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Question Number : 101 Question Id : 4557344741 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

A train moving at 30 ms™L is blowing a whistle with a frequency 500 Hz. The speed of sound
is 345 ms™!. The wind is blowing with a speed 10 ms™! in the direction of moving train. The
apparent wavelengths of the whistle as heard by an observer who is respectively in front of
and behind the train are

28§ Den 30 ms~! 350 JIdHhdr 500 Hz TFHNSgENE §rd JoduhHh. 0 I8
345 msL. Bew #0s BFS* 10 ms™! S8 O Hardro $HDHYE Bew S»od 58050

S8 grifdne 38 &8 Hisesud E G540y édoﬁgg}gaﬂo\}m B
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Options:
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3 0.65m.0.78 m

4 0.60m.0.71 m

Question Number : 102 Question Id : 4557344742 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The path of a light ray inside a transparent slab of variable refractive index is y = 4x”. A light
ray travelling in air falls on the surface of the slab at an angle 30° as shown in the figure.
The refractive index of the slabat y=0.5m 1s

ﬁjﬂdﬁ@}pﬂ 5@9%@ thago e g ;‘fdcﬁo’% ;w.ﬁaﬁ e5° 2§ 570& B0 v = 4x2 S0
©3H80:0008. mOS™ Hodrid) 2.8 5708 §dmo HE0S® Hrnd Do 30° F0& &

$003 DE50B. y=0.5m G Hoy @08, Si8eHS Koo

YIA.
Slab
7B,
0.5m | | ;
/ﬁNomnI air 9
30°%, 2028 G
(0,0) 8
Options:
1 1.33
5 1.5
3 1.46
4 1.28

Question Number : 103 Question Id : 4557344743 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Interference fringes were produced m Young's double slit experiment using light of
wavelength 6000 A. When a transparent film of thickness 3x10~2 cm was placed over one
of the slits. the fringe pattern is shifted by a distance equal to 20 fringe widths. The refractive
mdex of the material of the film 1s

o908 Bodr HOS® BAPHoS* 6000 A 8013550 e 5708 &HBTN0D S38ETD HEJ
DB 3x10~° cm Hodsn fHe el i‘ﬁiiﬁt‘i{gé FES i aE DOE g Goda
5885 E‘Jééﬁif_} Jrgsro 20 E’j@i Senyodd SRS drdo 2BANG. =onad & &7 larets)
38555 Koz¥o |

Options:
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Question Number : 104 Question Id : 4557344744 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

There is a uniform electric field of strength 10° V! along the Y-axis. A particle of mass
1 gand charge 107° C is projected into the field from the origin along the +ve X-axis with
a velocity of 40 ms~1. Then the magnitude of its velocity after 30 seconds will be (neglect
gravitation)

10° V! $desn o 868 Dehgs 3ESn Y - wgo Jowd HIDosnHHe. 1 rdn
B5g073, 1070 C es3ddn He S280d 8 X - wgo BFS® 40 ms™ Dsns® ggo 08
B850 BHS 30 REH SHard T 3K HB8ST00 (HHegEdad DB BoEEN)

c
o
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Options:
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3 30 ms!
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Question Number : 105 Question Id : 4557344745 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two hollow concentric spheres A and B are enclosing electric charges 2 C and 8 C
respectively. If the radius of A is less than that of B. the ratio of electric flux through A to
the electric flux through B is

Bod ASbasn B ol I8 So|@s 'en Aeren S6hdme 2 CHooin 8 C ddgmrazedd
esS500058. A Y Fgéﬁgc B ¢ a‘-‘g#go 08 59 5 wond, A oo A0 DeSags
@I EroHs Sdasn B oxor Fdh IgE wdairossy Sy AG

Options:
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Question Number : 106 Question Id : 4557344746 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An uncharged parallel plate capacitor filled with an oil 1s connected in parallel with an
identical but air filled capacitor charged to a potential Vy. If the common potential 1s V5.
the dielectric constant of the oil is

Sraat QohS wl s3ddrd SFD0E, mOE donad Vi >805HS6% espdrBdo BoSds
DEEHIDTIIN Srotdiy darodlom SoHNASH. GdE FEYCHE V) BONB ST
YAt ?@:01050

Options:
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Question Number : 107 Question Id : 4557344747 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Three concentric spherical shells are arranged as shown in the figure. The innermost and
outermost spheres are connected to earth. If the middle sphere is given a charge q,. the
charges induced in the innermost and outermost spheres respectively are

H8065° SIrDd) S Hord JESoE Fesd Efored” ©d)otdgod &HO BB

N0 K0T DenHnd Fered fironé Hodoord. Sudeei e &) esalifo @ofT,
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©oi3sod SHe HHBotn wd0iiEed Jende Feo @08 ez SHBM
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Question Number : 108 Question Id : 4557344748 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A voltmeter having a resistance of 900 £2 1s used to measure the potential difference across
a 100 € resistor which is connected to a battery of emf 150 V and internal resistance 10 £2.
The percentage of decrease in the potential difference across the 100 £ resistor when the

voltmeter 1s connected across it 1s

150 V emf 558050 10 Q s088)8°¢0 Ko o8 ergidbs domrso Boswads 100 Q 05 ¢80
D360 Dy fe FBAHS B Foobhdss 900 Q OG0 do 2.8 JFey b
&HATrAoT . Fen ottty Hdroddor Hogrso ﬁﬁ,;‘ﬁa’jcﬁa 100 Q 26 %50 A58
Socig fie FBYCHS Bwed* SMide FEo

Options:
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Question Number : 109 Question Id : 4557344749 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A and B are two points on a uniform ring of resistance 19 Q. The angle ZAOB =45° . The
equivalent resistance between A and B is

19 Q 2650 tie I86& Bof (&odo)3 Bodkh Hodgen ASBa5 B. §mo ZAOB=45°,
A 5808» B o Sodg doeg A5G0

Options:

| 8.02Q

1 20.8 Q
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Question Number : 110 Question Id : 4557344750 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An electron moving in a uniform magnetic field [4i+6_j -I—nk] T experiences a force

( 21 —33 +4k ) N. Then the value of ‘n’ 1s

(4i+6]+1k) T &S o DE68 woHim o8 FSos* HHSZNS® o Jogdip, OB

[21—3] +4l¥] N =onad ‘n’ Dend

Options:
| =2.5
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Question Number : 111 Question Id : 4557344751 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An electron enters a magnetic field of (3i 4 j) T with a velocity of (-5j +4k }1115‘1. The
acceleration produced is

(i of electron=1.76x10! C kg™)
1

(3i+4j)T ©aHF 08 FFo5E w8 JoFS (6j+4k)1115—135r‘i::n§'5 B3I, ¢&§ vy

[wEld .:3535699@

(DeEd £ = 1.76x10"1 Ckg™l)
m

Options:

| 3.52(~81+6j-9k)x10' ms™?



2.53(-8i—6j+9k)x10" ' ms™

1.76(~81—6j+9k )10 ms™

L]

52(—81+6j— 9k jms™

Question Number : 112 Question Id : 4557344752 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

fllﬁﬁ = () equation 1s not according to the following
$Bds =0 ©3 5286 Bod A BB 56
Options:

The net magnetic flux enclosed by any closed surface is zero.

ﬁm;ﬁ;}{é de0e5° es5d0HadS VES Fﬁo:ijﬁ}"a,oé AP RS %b%g&”m.

No isolated magnetic poles are available.

o) 0d I8 HyTen ©HoSY.

]

The magnetic flux is positive at some place and it is negative at some other place.

2.8 Padoes" ©05a, 08 wiardo dord Somrid, $o's AR oo o

Aotod.

3
The number of magnetic lines leaving a surface is not equal to that of entering the
surface.
28 oo HH0d ©oHds F6H Jndo woban od welpen, & Swo S°HOE S
DeoPe Hopgd HHrdo stk

4

Question Number : 113 Question Id : 4557344753 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A conducting square loop is placed in a magnetic field ‘B’ with its plane perpendicular to
the field. The sides of the loop start shrinking at a constant rate ‘0t’. The induced emf in the
loop at an mstant when its side 1s *a’ 1s

&8 SHEFSE TFE orhd ‘B wohidod ggod’, orh doo ¥ B wondom
S0BOLY GoDTE. Ord BwE), ghHesnen ‘o P Tn TDHYS SrodohEaFsdo o,
ghadn PP ‘a &l 0o 3¢, orneg” HiSHons HEgs Ted pedn.
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Question Number : 114 Question Id : 4557344754 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An 1deal choke draws a current of 8 A when connected to a source of 100 V. 50 Hz.
When a resistor 1s connected to the same source. it draws a current of 10 A. Now the choke
and the resistor are connected in series and then connected to a source of 100 V. 40 Hz.
The current i the circuit 1s

2.8 w05y (2085m (F5'5) 01100 V. 50 Hz 255°08 §005:) 8 A Ddogd HHiroddd. i)
20508 wf O6°CE5NG £90haNd 10 A DS @erotind. QDN (REES805,
DEEES0S Fhe €D & Domrddud 100 V. 40 Hz =55°08 £95H8 = SHeadoes®
Dogd @0

Options:
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I



Question Number : 115 Question Id : 4557344755 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An observer is at 100 ¢m from a point source of light of 120 W power. The rms value of the
magnetic field due to the source at the position of the observer is T.

IR B
(Speed of light in vacuum = 3x108 ms1, T 9x10°Nm™C ™
0

120 W ﬂvéaggo e g8 Dot 570& 2580 Sod w8 Hbiedd 100 ecm Sdrdoes® ﬁn:r:lci:;.
2B80Bd &S rdo 3¢ xsfo S0 &od wohidyod FSEH ms Dend T.

e i = 1 g8 -1 — =9x10° Nm?C ™2
{@mﬁof_‘ﬁ" 5708 oG Ix10°ms . dne, )

Bx1077

L-2

3 4x1077

5x1077

Question Number : 116 Question Id : 4557344756 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two parallel metal plates A and B separated by a distance 25 cm are connected to an ammeter.
Photons of energy 3.28 eV are mcident on the photosensitive plate A of threshold
wavelength 5000 A. The minimum value of the magnetic field to be applied parallel to the
plates so that the current through the ammeter becomes zero is Bx107° T. Then the value
of B is

(mass of electron = 9.0+10~21 kg. charge of electron = 1.6x10717 C)

25 cm $r 5o IHBohHeds ABda5n B = ot dErods S5 Sofod ef @it
Rogrdo B, esdogs éﬁﬂﬁ@_%ﬂ 5000 A e grés® RFEgreTgs He8 A 3.28eV ¢8 o
Prden HS5HMHDHKD. @6 Ihgs Pariro Erdgo reod Hoie’s Jhrodionr

©5BPoHSODE woHT)od FSDH 9D DHewsd Bx107 T, wond B dend,

—

(Do Bogoe = 9.0<1073! kg, QOE s3d0 = 1.6x1071% C)
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Question Number : 117 Question Id : 4557344757 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In hydrogen spectrum. L, line arises due to transition of electron from the orbitn=3 to
the orbit n = 2. In the spectrum of singly ionized helium. there 1s a line having the same

wavelength as that of the L, line of hydrogen. This is due to the transition of the electron
from the orbit to

TEeS $gHe0e” Lydpk sedo n=3 €8¢ $r0d n=2 8558 .DE‘_JLEE HoEdomo. aEard
wohNEGn0 BohS trdoHos® @ ES Ly 0w S50 BOrgIE DIrSISE SS0rBEgS0

e 368 Op J6YBok. & DS 576200, JOFD SoESIW0 ggg S0
SEgE
Options:

| n=3.n=2

G n=6.n=4

Question Number : 118 Question Id : 4557344758 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Neutrino 1s chargeless and possesses spin.

Reason (R):  Neutrino exists inside the nucleus.
A3ydo (A): Srgds eaddirdo SHdotn 0)S DA dsnoddo.
s*eao (R): Srgds Soligoes Gk,

Options:



Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
: (A) 528050 (R) o0 Bodr H$85050 obosn (R) @386 (A) & 58305 Dbde

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) 58050 (R) e Bodr $8605d 50 (R) @36 (A) § H5508 DT 57

(A) 1s correct but (R) 1s not correct

(A) 585056 5°0 (R) HBIHEH 5965

(A) 1s not correct but (R) is correct

, (A) 3080 55 50 (R) 0G0

Question Number : 119 Question Id : 4557344759 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The circuit given below 1s equivalent fo

HOBNG® Srnd 00080 1§od TESNSE EIRgISH

e ) Oy
- Y X, ¥
Options:
AND gate

AND m‘-‘ngfjc

NAND gate
NAND ET;gﬁ-D

NOR gate
NOR @80

OR gate
OR @gdo



Question Number : 120 Question Id : 4557344760 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A signal of frequency 20 kHz and peak voltage 10V is used in the amplitude modulation of
a carrier wave of frequency 0.5 MHz and peak voltage 20 V. Then the ratio of the frequencies
of upper side band to the lower side band is

0.5 MHz ?533’35@0 H080%0 20 V 3pd 88 e ¥ ddofio 0_11}531 E00:d Db
SrgBRs 588 FHaysgnn 20 KHz, 398 5848 10 V de 508&0) 45BrAodT .
B, HHS FPYRHY, BIHS FogHPe FH DT NG
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Chemistry
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Group All Questions: No

Question Number : 121 Question Id : 4557344761 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the radius of electron orbit in a hydrogen like species is 52.9 pm. the angular momentum
of electron in that orbit is

-

885 argargo 52.9 pm wond 8550 Jagrs (3 atio
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Question Number : 122 Question Id : 4557344762 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

According to quantum mechanics. in which of the following all the information about the
electron is present?

575080 JITO|@E TJ0 ©5 50, JOEFOK DowoRodS Jdrardioe §olFES” 3OS’
& 0L0087?

Options:
Schrodinger equation

EE&0NE JdEdmo

Wave function

gdoif Habosio

Principal quantum number

o, Wt ] -
LE.:ITFJ E":SCJ CI0 o S'Q_'hg

Probability density
LoETHgd Troé

Question Number : 123 Question Id : 4557344763 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the elements of second period of the modern periodic table. the decrease in atomic
radius (pm) 1s maximum with respect to

B8 B853S HES Bodd HHHE Sreses® A8 JowodHod HFSrm argargo(pm)
driade fbao
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Question Number : 124 Question Id : 4557344764 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The bond length and bond dissociation energy of H, are 74 pm and 436 kJmol™! respectively:.
Which one of the following graphs correctly represents the variation of energy (in y-axis)
with inter atomic distance (in x-axis) of H,?

H, @3»n¥), wod@%o, 206 Hared 48 Stdm 74 pm, 436 kJmol ™, 1808 mhees® 8 H,

—b

@8, wodd HOSre Brdo (x-wfods®) & 4§ (y-=goes’) Srdniy ¥om Srddyoh?

Options:
¥
(kI mol ')
?
B sy
i B N
—x (pm)
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Question Number : 125 Question Id : 4557344765 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A molecule (X) is represented as AB.E and molecule (Y) is shown as AB,E, In X and Y.
the electron pair arrangement around the central atom 'A' 1s respectively

&8 @) (X) S AB.ES& drdodm, woaod (Y) 5 ABLE,& drdomd. X. Yo Sogs
Doard ‘Al dodor Q@@;E ade w088 Sdham
Options:

Square pyranud . Square planar

BB00 Sr@rgstio |, Bl Sdde

Square pvramid . Octahedral
bR drargsrfo |, wnRIOs
Octahedral . Square planar

5 WADOE , el ddode
Octahedral . Octahedral
WD , waHel
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Question Number : 126 Question Id : 4557344766 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The temperature to which the open vessel at 27°C 1s to be heated to expel 3/5 of the air in
it 1s

(Assume (1) volume of the vessel remains constant and (11) ideal behaviour for all gases
present in air)

27°C 8¢ w8 BOD &) FESD MO IAVOIYE 3/5 S0 w00 FA dfome
DoETD8. T o & SESE 3¢ Basrd) sodnod?

(1) G D08 HdIree0s” Srdy) Godds Hdodn (1) MmOHSW drodbuIodosn b
TO3N[ON BHEHDN)

Options:
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3 627°C

4 577°C

Question Number : 127 Question Id : 4557344767 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The volume of 0.1M KMnO, solution required to completely react with a solution obtained
by dissolving 0.63g of oxalic acid (molar mass 126 gmol!) in 50mL distilled water in
acidic medium m mL 1s

0.63gesipd5 o (Borerd B5god 126 gmol) 50mL 205 e200065° EBR0WET ©HONS

s ErESE0s” Jrom SdgTohodirds sdedd 0.IM KMnO, odwo

gt
ol
HoSHBSTmo mL oSt

Options:
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b
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Question Number : 128 Question Id : 4557344768 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The enthalpies of formation of COgy. CO,g) and N,O,) are —110. 393 and 81kJ mol ™!
respectively. If the enthalpy of reaction (AH) for N;Oy) + 3COgy — NyOgy + 3COyg) 18
—778 kl. the enthalpy of formation of N,O,(g) in kJ mol is

CO(r), COyryy NyO(ry © B03de0 dogroyen Sddm —110, —393. 81k] mol.
NyO i)+ 3CO )= NyO )+ 3C Oy ) 5855 J077OY (AH)—TT8 kT o, N, Oy ) Sodiies
2079y kI mol! exe5®

Options:
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Question Number : 129 Question Id : 4557344769 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the value of AG® for the equilibrium reaction at 300K is 57.44 kI mol™. the equilibrium
constant K _is

300K 5¢ SsaR8 655 AG® Sens 57.44 kT mol ! woxns DdeRs goroso, K Jend

Options:
| 5710710

5.7 % 1010

-2

1.0 x 1010

1.0 x 10710

Question Number : 130 Question Id : 4557344770 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



At T(K) if the ionization constants of HCOOH and HCN are 2.0 x 10~* and 5.0 x 10~
respectively. the ionization constants of the corresponding conjugate bases
respectively are

T{K}E’)g} HCOOH. HCN =g5588 E:}E-D'“DS““@:- 5835 2.0 % 1071, 5.0 x 10 %0008, 783

wddrsd soernd] gore woHaste Jorosten SoHHm

Options:
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5.0%x10°,20x 107

5 SR 107,210 %109

Question Number : 131 Question Id : 4557344771 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When 2.0 mL of 15.18% (w/v) H,O, solution is decompesed the volume of oxygen liberated
atSTPis

2.0 mL 15.18% (w/v) HyO, @m0 Jfadido DobdHd ord Hokd Hdhdedy s8ung
TEHdSrmo STP Eﬁ%ﬁ mL exe5*

Options:
1. 50

, 30.36

Laa

5,100

Question Number : 132 Question Id : 4557344772 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The pair of s-block metals. which give crimson colour to the flame 1s

80 Gorhidy e i) serf oo wob

Options:



Li. Mg

_ Na.Ca

]

Li, Sr

Lad

K.Ca

Question Number : 133 Question Id : 4557344773 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Diborane reacts with NaH in diethyl ether to form X. Reaction of X with I, gives Nal. H,
and Y. Whatis Y?

Eeﬁ"’ﬁ"ﬁ, B&Q0S5 $56e° NaH & S6gToh X & Eﬁ:},nﬁaﬁﬁa. L& X 6506 Nal,

H, 58050 Y o0& L"Jd;;d::ﬁo;&:-. Y 28672

Options:
| Na,B,0;

B,0;

L2

H,BO,

Question Number : 134 Question Id : 4557344774 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Identify the correct statements regarding fullerene
1. Ithas 60 vertices
ii.  All carbon atoms are in sp? hybridisation

1.  The number of rings having six carbons each is 20 and the number of rings having five
carbons each 1s 12

iv.  AllC—C bond lengths in it are equal

Dobas Howohod) BB Doty K80t
i &S° 60 3oen eamon

ii. &06° ©d) s6S H0ST@Ien sp’ HosBES00 Sotron

. HIS° PETIS” s oo Sodires 20, o shHde Seciren 121dotron
v. BITW vl C-Ceodporgen dSFS550

Options:

| L1V

o 1,11, 111, IV

1. 11, 1V

[N

1. 1i1

Question Number : 135 Question Id : 4557344775 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify green house gases from the following

1§08 T78565° fiopaiT e drodndedy Hdodod

!

1. CO, T & 6

111. CH, 1v. O,

W SO, wi. CFC
Options:

| L1 a1 iv. v

"

=

1,111, 1V, Vi



5 1L 1L IV, Vi

i 1. 11, 11, IV, V. V1

Question Number : 136 Question Id : 4557344776 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Among the aliphatic hydrocarbons C,H. C,H,. CH, and C,H, the pair having hybrid orbitals
to unhybridised orbitals ratio 1:1 1s

C,H,. C,H,. CH,. C,H, »3 2888 @ sthnos® S088 sty irdn, So865¢no S04
sterg g 11 m fde 2o0b

Options:
| Koty
O,

Question Number : 137 Question Id : 4557344777 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Bond lengths (inpm) of C—C. C=C and C=C are

G Gl PaE Q0S5 BTT 0 (pme>es®)

A Cc=C c=¢
Options:
| 154 120 133
, 120 154 133
, 154 120 139
140 133 139



Question Number : 138 Question Id : 4557344778 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

Addition of HBr to propyne takes place through Z. What is Z?

@23, HBro Hosed g Z oo a6iHdéod. Z @Hss 267

Options:
&
| CH;—C=CH,

CH3—C=CH
|
Br

1

i~
, CH;—C=CHBr

@D
, CH,-CH=CH

Question Number : 139 Question Id : 4557344779 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a cubic closed packed structure of mixed oxide. the oxide ions are in CCP arrangement.

1 : ; : 1 ; .
— of tetrahedral voids are occupied by cations A and — of octahedral voids are occupied

—

by cations B. The formula of the oxide is

28 E0ESs ¢ n}& DTEY VNS Erdyy H07)20065° <06, 8B wdird) HTsd dd)jerd

1
Brd)y 85585 (CCP) , Bgr @S §ﬂ@‘-'m=5‘ — grio oIS A, sgands o

geifo 5ol Besi§nod)s, & &8)& Joner

& [}
o e

by | =

Options:

. BN

, A,BO,

| ABO



, AB0s

Question Number : 140 Question Id : 4557344780 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

CO, and CH, gases were bubbled through two different one litre water flasks at the same
partial pressure of P bar at 298K. If the Henry's law constants of CO, and CH, gases at
298K are 1.64. 0.41 k bar respectively. the mole ratio of CO, and CH, gases dissolved in
one litre water is

298K 54 Boddy 36 3 2.8 dbd e Fges s CO, CH,soodHod o8 88
28550 P bar 36 HoaodamEon. 298K 58 CO,. CHy o dnd® TRA0% S ?E;m‘-'{:lsjm
565 1.64. 0.41 k bar 2020 2.8 OLE 13¢5 85 CO, . CH, srasndatrde G
Options:

41

1:2

o]

; 1:4

4_2:]

Question Number : 141 Question Id : 4557344781 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A): The flow of solvent molecules from pure solvent to the solution through
semipermeable membrane is osmosis

Reason (R):  Pure solvent molecules flow out of the solution through semipermeable
membrane if a pressure larger than the osmotic pressure is applied to the
solution side

O3 bo (A): e wmoden «f @3FEERC ogor HY @DB S0 @008
D30T (Barddn0 wodrd
600 (R) 1 (BT380 DET V808 285 HET) (TS0 Seul BR 375800 $H010)

E:g @5‘% o] oo éﬁfém@?ﬁ BrDe) mea0den woShddy (BHDTTaron

The correct answer 1s

HBFS BIEFTBE0

Options:



Both (A) and (R) are correct and (R) 1s correct explanation of (A)
1 (A) $8c5» (R) en Bodr 380080 Sodosn (R) @36 (A) & 38508 D580

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(A) $8a05» (R) o0 Bodr 3853050 =ond (R) @36 (A) § 380HS D580 55

L2

(A) 1s cotrect but (R) is not correct

: (A) 580058 570 (R) H8F0HE 5°¢h

(A) 1s not correct but (R) 1s correct

(A) 585058 5765 570 (R) 38056
4. S G

Question Number : 142 Question Id : 4557344782 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If E° .y of a cell represented by
Ni/NiZ* (0.04M)|| Ag™ (0.002M)/Agis 1.05V. the E pin V is:

Ni/NiZ™(0.04M ) || Ag™ (0.002M ) /Ag

28 JoeDods dobso, E°% ,  1.05V g E, , V eyes”
e b bl

Options:
, 0,932

0.814

L2

3 0.466

, 1.168

Question Number : 143 Question Id : 4557344783 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If the first order rate constants for the decomposition of ethyl iodide at 600K and 700K
are 2.0 x 107 s~ and 2.0 x 10~* s7! respectively. the activation energy for this reaction in
kJ mol™ is

600K. 700K 5¢ 285 «@nasé IBrmds @ Edros tﬁcrfgfi-:ba %‘-DTDS"@J S
20x10°51,2.0 x 105! wons & 65 4228 4§ kI mol !l os®

Options:
| 80.4

40.2

k-2

2 20.1

4 60.3

Question Number : 144 Question Id : 4557344784 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following is correct regarding physisorption?

85 25 A0058 Sonofod) §od e HOTIH IH?

Options:
It involves chemical bonds between adsorbent and adsorbate

o ndo, A5 a80 Hogig r0IRE woFren wotron

Enthalpy of adsorption is about 80-240 kJ mol™
5500 Jogrd) 80-240 kJ mol™l = &otwod

It 1s reversible 11 nature

ATAL Berid Jgerdo 0énod

It results in unimolecular layer only on adsorbent surface under high pressure

wHE DES0 5§ 2HTNT0 GHBS0D IrED I8 w8 DS GYEIH0H

Question Number : 145 Question Id : 4557344785 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following.

List-1 List-1I
A) Zonerefining I) Indium
B) Poling ) Titamum
C) Van-Arkel method II) Nickel
D) Mond process IV) Blister copper
V) Zinc
Bod o8 2EddH0
erde -1 wFfe - 11
A) Hoode FS0 I) =o&cfm
B) &#9oh ) Bérdodbo
C) &0 = F slalc ) &ss
D) $rof 558 IV) 036 556
V) 20§

The correct answer 1s

=5 Eh-@;’f:- SISV B

Question Number : 146 Question Id : 4557344786 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Which of the following reactions cannot liberate phosphine?

=

g o T ‘ s
Eob $Egee” Faynte dde DORIG 067
O

Options:
] Ca,P,+H,0 —

PCl, +H,0 —

L2

H;PO;—

Ll

PH,I+KOH —

Question Number : 147 Question Id : 4557344787 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following reactions represent Deacon's process?

808 SCgees” 9B A8 HESI SgEo BHyon?
Options:

| 4HC1O, _©Ch 4501,+2H,0

Sunlight
2H,0+2C1, —Z%7%%  4HCIHO,
Rhgjuige
4NH;+50, —roe—> 4NO+6H,0

e

250,+0,—2% 3250,

Question Number : 148 Question Id : 4557344788 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Sulphur reacts with cone. HNO, to form H,SO,. H,0O and X(g). The liberated X(g) was
passed into water to form Y(g) and HNO;. What1s Y?

Fﬁ@;ﬁ et HNO, & S8c30h HESOLF HEO Mbodn Xla) o ﬁd&d}ﬁ}fﬁ. ackatier 0108

3
X(ae) 350 H85e5°08 Hododn Yiar) S:8050 HNO, 0 Dﬁ;i‘go&a. Y i

Options:

i NO,

Question Number : 149 Question Id : 4557344789 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following permanganometric titrations does not give satisfactory results?

o

Bod Ho7onT RS woddriTes” Jb HodhEsHS HOa) ase?

{

Options:

l.
2KMnO,+10FeS0,+8H,80, —>?

10KI+2KMnO4+16HCl——?

2KMnO,+3MnSO,+2H,0—>?

Question Number : 150 Question Id : 4557344790 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Identify the correct statements from the following.

1. In[CoCl (NH3)5]3+, the Lewis acid is Co*"

ii.  Anexample for heteroleptic complex is [Co (N H3)6]3+

iii. The hybridisation of Mn in [MnBr,]*~ is dsp?

iv.  In[Ni(CO),]. the metal-carbon bond possesses ¢ and 1t character.

Boh 7r8e5” DBGHE DHdded MHBodidn

i [CoCl (NH,)]*" &%, Co* exrond Shile

ii. 3r6°8H8 H03xds sorirdn [Co (NH,)I
iii. [MnBr,]*~ &5° Mn$0§6862050 dsp?

v.  [Ni(CO),] &, &%5ro-52thQ 205708 0 Sobodn T Heerddnodnod

Options:
| i, i 1

11. 111

Lid

4 1. 111, 1V

Question Number : 151 Question Id : 4557344791 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The Poly Dispersity Index (PDI) of a polymeris 1.5. If its mumber average molecular mass
1s 30.000. calculate its weight average molecular mass.

g8 O ord J8Imd Jrof 1.5, & difdo dopg wed (BHg0°8 30.000 ®owns, T

W

it egd H;@:@E’Jgo‘*%‘

Options:
| 40,000

120.000

L-2

45,000

190.000

I



Question Number : 152 Question Id : 4557344792 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Diseases caused by the deficiency of vitamin D (X)) and vitamin B,(Y) are

D603 D (X), D308 By(Y) &0 S 53y 2ape

X b4
Options:
Scurvy Cheilosis
1 ),6¢ 8e5°05
Rickets Cheilosis
. 888 §e5°0%
Rickets Scuurvy
o3¢ S
3.
Scurvy Convulsions
9,08 Scavdnd o
B D

Question Number : 153 Question Id : 4557344793 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following is an anionic detergent?

808 T3e5° e0irAE 8450 J6?

Options:
Sodium dodecyl benzene sulphonate

FHofan FESS Bogd IS 365

Sodium palimitate

A0 FHEE

L2

Cetyl trimethyl ammonium bromide

0BS BHFS wa3rdoha s

o



Sodiumn stearate

L a$ran S0y

Question Number : 154 Question Id : 4557344794 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The correct order of reactivity of the following compounds towards Sy 1 reaction is
Syl S0gH8) Bod dHndore doglodd Srdod J0GHH EH0

CH,CH X CH,CHX (CH,),CX (CH,),CHX
I I il v

Options:

| I>IV>TI>11

=II=IV=1

L-2

; I=>IV>T1>1I

4 IV=II=1=10

Question Number : 155 Question Id : 4557344795 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify X and Y in the following reactions
Bob Sdgees” X, Y o HBowsn
R —CH=CH—-€H,0H—> R — CH = CH-CHO
R - CH,0OH— R ~COOH
X ¥
Options:

| KMnOy/H' K,Cr,0,/H"

PCC KMnO, /H®

"



C1O, PCC

PCC CrO,

Question Number : 156 Question Id : 4557344796 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify X in the following reaction

Bob S8ge5® X & hBodod
OH OH OH
SR e @
X .
—} el
NO,

Options:
Conc. HN03 + Conc. I—IESO4

s s

Fuming HNO;
STASENS)

Dilute HNO, /298K

e

-;JEE;}#\}

Conc. HNO, / 300K

ale

Question Number : 157 Question Id : 4557344797 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



CO+HCI

CeHg

S
Anhydrous AICI >X
AT
Conc. NaOH
i i
X— S Y+HZ

Y and Z in the above sequence of reactions are respectively

P wdEdddges” Y 0ok Z e S6dm
Options:

HCOONa . C,H.CH,0H
1.

CgHyCOONa . CgH,OH

L-2

, CgH;COONa . CgHiCH,0H

, CeHsCOCH;  C4H,ONa

Question Number : 158 Question Id : 4557344798 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Heating cyclohexene with KMnO, —H,S80, gives

28855 KMnO, - H,SO,&38 Sohi D8ythsa

Options:
Glutaric acid

irérBE &s500

Hexanal

_E:-"’%ﬂ"'@_

Hexanoic acid

; 8T onf =0



Adipicacid

PRYUCER b

Question Number : 159 Question Id : 4557344799 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following reagents are used to distinguish aldehydes from Ketones?

Fehling's reagent Lucas reagent Hinsberg's reagent Tollens reagent
I I I A%
§od i3S s irledd, 885750l HLoSEas B o
»s90f) 580 ersTe 5 dgo o sTgEo L5*Ba) 5680
I II I IV
Options:
LIOLIV
. ILTIT
, LTI
4 LIV

Question Number : 160 Question Id : 4557344800 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are X. Y and Z in the following reaction sequence?

L
r

Phihalamide  S"SE0WE , FOWGHOH o RX 7

§ob SorgESoos® X, Y, Zen 297

T@Eﬂ,g ?_-FI:Jg &E::E-l_ & ‘;X KDH-ClegH

Options:



-2



APEAMCET-2018

Agriculture & Medical Stream Final Key
Date: 25-04-18 FN (Shift 1)

Q.No. | Answer Q.No. | Answer Q.No. | Answer Q.No. | Answer
1 4 41 1 81 2 121 3
2 3 42 1 82 1 122 2
3 3 43 2 83 2 123 4
4 4 44 3 84 2 124 2
S 2 45 2 85 3 125 4
9 3 46 2 86 1 126 1
7 2 47 3 87 4 127 3
8 1 48 1 88 1 128 1
9 2 49 1 89 2 129 4
10 3 S0 1 90 4 130 4
11 3 S1 2 91 2 131 3
12 2 S2 1 92 3 132 3
13 4 53 3 93 1 133 4
14 3 54 2 94 3 134 4
15 2 55 4 95 1 135 2
16 4 S6 4 96 4 136 2
17 3 S7 4 97 1 137 1
18 4 S8 2 98 3 138 1
19 3 59 3 99 2 139 4

20 1 60 2 100 4 140 3
21 2 61 1 101 1 141 2
22 4 62 3 102 2 142 1
23 1 63 1 103 3 143 1
24 2 64 3 104 2 144 3
25 1 65 4 105 1 145 2
26 2 66 4 106 2 146 2
27 3 67 3 107 2 147 1
28 1 68 2 108 2 148 2
29 4 69 2 109 4 149 3
30 2 70 1 110 4 150 2
31 1 71 4 111 1 151 3
32 3 72 4 112 4 152 2
33 2 73 2 113 4 153 1
34 2 74 1 114 3 154 2
35 3 75 4 115 1 155 2
36 4 76 2 116 2 156 3
37 1 77 3 117 4 157 3
38 2 78 2 118 3 158 4
39 4 79 4 119 3 159 4
40 2 80 3 120 2 160 1
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